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Section : General Intelligence and Reasoning

Q.1

O

is]feijeik

Ans

< 1.

R

few v fompedt & ¥ 30 3P 1 99w T e apia-omer #
FoARET (?) & T 9T 3T Hear g7

Question ID : 26433080521
Status : Not Answered
Chosen Option : --

Q2 fFoafafea s
EDIC, FGJF, ?,

Ans X 1.GIKI
% 2.GJL
7 3. GJKJ
4. GJKI

P T 3H&R-TYE <1 7S a1 § UHRIE (?) F TIH W ATT?
HMLL, IPMO

Question ID : 26433059860
Status : Answered
Chosen Option : 4




Q.3 uo fAf3d e | &, 'DRAWING' ) 'CQZVHMF' 3R 'TURQUOISE' H1 'STQPTNHRD'
foran wirar 8, S WS # 'COLOR' F $ fermar s

Ans 7 1. BNKNQ
< 2. ANKNQ
X< 3. AMKMQ
/< 4. BMKMQ

Question ID : 26433067766
Status : Answered
Chosen Option : 1

Q.4 39 fIhey HT Ig= BT oY UiEd 3ieR-4g ¥ 3 UPR Jdfte & forg uer 3&R-
T U ER-TE A Haflra § 3R T 3igR-Tg FIY HeR-9g | "l g1
LAMP : RQGT :: GAME : GQGO :: GOAT : ?

Ans 7 1. VEUO
< 2.EVUO
/< 3. OUEV
/< 4. ACDF

Question ID : 26433056401
Status : Answered
Chosen Option : 1




W =7 e Il F T wY O wa F & aE gty Bfa
(AT #r 3egAlT €T B))

O

Ans

X< 4.

EHHS

Question ID : 26433067436

Status : Answered

Chosen Option : 2




Q.6 T HYAT & a1g T Fepd 1, 1 3R 11 AT W &1 MUY 39 HYHT B Hd AT 8, WA g
3 9dyTd aat ¥ fia udia g1a 8f 1 g 9g Fifoe $ o 7 frseut & @ S9-a18 s
fou T YT BT AP T F STURVT BT 2B B
DY

e
() o froTsal, $H 81
() T IFAHE, F F
() Tf &, freTsar 81
Ans X 1. 71 s | STERON el B T B 11 SFERT Rl §
2 2. Bacl FIsp | SFTER AT &
X 3. Pad B 1| 3TER BT §

4. TBs |, 11 3R 111t SR R §

Question ID : 26433065999
Status : Answered

Chosen Option : 4

Q7 wEH & T P AT HAT-3eT RUTIAT 2T war § 2 g2 A
Foe & Aullg Gee S &I AT ST

PPV

Figure 1 Figure 2 Figure 3
Ans X 1.3

X 2.6
X 3.1
4.4

Question ID : 26433069436
Status : Answered
Chosen Option : 4

Q.8 Y A<l F) SFIh ATHIN F AR HARRIT FIA & YT, B T g Ay I
TR STEI?
1. Unaffected
2. Unarmed
3. Unasked
4. Unattached
5. Unauthorized

Ans X 1. Unauthorized
«” 2. Unasked
% 3. Unarmed
/< 4. Unattached

Question ID : 264330104897
Status : Answered
Chosen Option : 2




Q.9 IH ey &1 794 $¥ ol Urd] TEn A I yeR Fefid & R 7o gadt T veet
e @ el § ok 9l e fad wen @ G621
6:12::9:21::3:7?
Ans X 1.5
x 2.7
X 3.8

& 4.3

Question ID : 26433067652
Status : Answered
Chosen Option : 4

Q10 R e Rredt & ¥ 37 WP F TF FE A B Inphoer F
geAfEs (?) & T W 37T Faar &2

E F G L

+ 2?2 %

Ans

X1 @

J I
. @

J |
X3 %)

| J

J I
x4 %{)

Question ID : 26433057792
Status : Answered
Chosen Option : 2




Q.1 TEmsi ¥ fAuw T &1 7 S| (AT 3: TS B 3P T Sidt A fauifira fee
o, of wemsit R wfehart fronfea &Y s @ifgg | SereRor 137 - 13 R wiharnd o
o 13 ® SYg/aeHIATUN AT 3fe faraT T Jehar 81 13 B 1 3R 3 H drsT 3R e 1
aﬁwwnﬁnﬁuaﬁmmaﬂ%aﬁamﬁqﬁ%)

Ans 1. (47-43-37)
X 2.(60-56 — 52)
7 3.(57-53-49)
X 4.(50-46-42)

Question ID : 264330105073
Status : Answered
Chosen Option : 1

Q.12 39 BT T FIE Ford T=d oy & S veR waita § o v fafafaa
| 5t IEIE e | el g1
(Fite: Tl B TP gew il | fyurira fory fam, gof wemsit w nfvrdig wfeang #t
ST T1RT | ISTeRvT & 1Y 13 - Ty Tfrane SR % SisAae AN ST 3difs 13
¥ foraT &1 FHa1 81 13 BT 1 3R 3 H FAHTRTT S 3R bR 1 3R 3 WR nifreig fpame
H P At TE 81)

(60, 17, 13)
(62, 14, 17)

Ans X 1.(55,18,9)
« 2. (56, 15, 13)
< 3.(43,9,12)
X 4.(57, 15, 14)

Question ID : 26433070233
Status : Answered
Chosen Option : 4

Q.13 & 715 3t Il aur 3 gl & U § RER dgaq & Ut HHRT: JHBT (1) TUT (1)
* | T g2
+ YT %, 1TAT 3
.L6+4-9%x3+1
N4x3-1+8+2

Ans X 1.11,15
& 2. 17,17

< 3.9,18
X 4.26,17

Question ID : 264330105155
Status : Answered
Chosen Option : 2




Q.14 12 fou 7T vy A $© FY R I q1¢ 39 YA W 1uTRa $© e fou v §1 faw
T YT B e A, YA & ITH JrA=IE: FId Tt A firsar g1 9 e ue ofik R
fruifea #3¥ & F19 § e, T ¢ FY4=1 &1 aifde T0 F gERu Hd 81
DY
.9t o, c &l
.|t c, b gl
e

. $D c, o%%'}
1.5 6, D 7831

Ans < 111 T Il ST s SeRor vt &
2 2. 1aur i T e SR aa €
2 3. 9t Frepef SrgeRr v §
o 4131 1| S i SR v 8

Question ID : 264330104948
Status : Answered
Chosen Option : 4

Q.15 T® 3epH faar T B, o | v ue g 21 2 e fawenl # 9 98 9%t fawew gfig, st
SSh Y B R B
GAR, AXS, UUT, ORU, ?

Ans X 1.MOV
X 2.QRT
X 3.IMR
& 4.10V

Question ID : 264330104810
Status : Answered
Chosen Option : 4

Q.16 fafafae ar ser-TaeET ¥ F 94 ol A a8ie & T § 8 39 YR tF 948
T &1 P AT AeR-TAo 39 JUE I Saferd 781 872

Ans X 1. WPUQ
X 2. ZLXM
3. BXCY
X 4. MEKF

Question ID : 26433080460
Status : Answered
Chosen Option : 3

Q17 UsVHTIFR U, VA TgT &
va@varadg 'y, varaa g
UrvaTadg'U, VT gI g
usvaradg 'y, vatare
IRO$P*B@F &, T OPTFIA T HAY &2

Ans X' 1. g
X298
3T
X 4.

Question ID : 26433068072
Status : Answered
Chosen Option : 3




Q18 gRRAxBHT AR fF A, BHT RN, A-BHTASRH A, BB AT, A+BFT IR
5 A, BT TS 8, o) Fafif@a & @ o019 a1 oivie g5 Refia svar e, 5 Q, P a1 82

Ans X 1.QxP+R
& 2.PxQ+R
X 3.PxQ-R
X 4 P+RxQ

Question ID : 264330104988
Status : Answered
Chosen Option : 2

Q19 3 fased ol &1 =g Fifeg o = G s anepfa 3 59 wm S wU H slafiRd 1 (gEm @ srafa A R

Question ID : 26433068018
Status : Answered
Chosen Option : 2

Q.20 us fAf3 g UTIT H, 'TOP' &t 102" & FU § Feds fHa1 9raT § 3R 'BAD' $i '14' & &Y
o peas far e 31 3 W # ‘oG # 59 UhR Heas faar s
Ans X 1.50
X 2.51
X 3.53

& 4.52

Question ID : 26433067328
Status : Answered
Chosen Option : 4

Q.21 39 ITed o1 79 B, e urad sieR-a9g I 3o a8) HdY 3, oY Way guv 3HaR-

TR P UEA EGR-TYE I ¢ X 6 AdY Y 3eR-THE BT FAY &R THE A 81
ABILITY : LIBAYTI :: CHRONIC : ORHCCIN :: HEAVILY : ?

Ans X 1. AEVHLYI
«” 2. VAEHYLI
< 3. LYIAVHE
< 4. HAVIEYL

Question ID : 26433069015
Status : Answered
Chosen Option : 2




Ans

Q.22 39 BT g B R FBIme sy # S veR Taft § o ver frafataa

8wt 3 wiafera &1
(Fite: TEmsil Bt ITF gew il | fyutira fary famm, gof wemsit w nfordg w@fean #t
S TIRT 1 ISTeRVT & T 13 - Kty Aferant S % SisAae AN $3-1 3afs 13
T forar o warar 81 13 BT 1 30 3 & v wAr 3k 67 1 3R 3 W nifvrdia wifsrang
B B Al TE 1)

(4,6,9)
(25, 10, 4)

 1.(6,36,216)
X 2.(45, 20, 19)
< 3.(98,7,89)
X 4.(23,3,32)

Question ID : 26433079122
Status : Answered
Chosen Option : 1

Ans

? fofafae @ @ Gafee F & R Rt & & 7 fw @

T3 FF WER ST g

[(Vr25_6) 4P +(6)* — (12 x8) +66+ (36 = 12) =65
& 1.43R8

X 2.63R8

7< 3.66 3R 65

< 4.66 3R 36

Question ID : 26433069218
Status : Answered
Chosen Option : 1

Q.24

Ans

fow g wfierur @t wgfera HA & e fovm & Tt ok fpe 31 Rrg &t IR sgern
3172"156-45”2“:519

< 1. 456 3R 45,+ 3R -

2 2.12 3R 4,- 3R x

o 3. 78 3R 456, + 3R x

X 4.45 3R 12, + 3R +

Question ID : 26433091763
Status : Not Answered
Chosen Option : --

Ans

Q.25 Fafafad vy & § 7 J@ar ¥ ¥ gu 3iF | PR

123, 125, 127, 2, 131, 133
X< 1.145
2 2.130
 3.129

X 4.128

Question ID : 264330105018
Status : Answered
Chosen Option : 3

Sect|

ion : General Awareness




Ans X 1.5
X 2.10
X 3.2
o 41

Q.1 Uit (Crust) gt B aTgIaH WA § el somH Al S gmAEE
Wt o 3, Rt ast wid wa werdhiia udd &1 siftreier iR i agr=t @ &1 81

yfa=a d

Question ID : 26433064277
Status : Marked For Review
Chosen Option : 1

Ans ,/1.1%159‘%
X 2.3
X 3.af
X 4. P

Q.2 9w Ft Arar Fufafeag & ¥ 7o @ w6l 0

Question ID : 264330105193
Status : Answered
Chosen Option : 1

Ans X 1. BHGR & g

X 2. Sesfod & faw

X 3. dgc @ g

4. TTHiaeta &1 fan

Q.3 prdfies Tam fagr §, Frafafed 4 3 o9 o e
Ter- 3R TepIs~ Bl gAae -1 Tpad
(regioselectivity) & JaiqHT- & forg faar wirar 82

33 yaog Y § ORIt Sua

Question ID : 26433064072
Status : Not Answered
Chosen Option : --

Ans 7 1.Russia
/< 2. Columbia
/< 3. Turkey
/< 4. China

Q.4 At which of the following places was the FIFA Men's World Cup, held in 2018?

Question ID : 26433070845
Status : Answered
Chosen Option : 1

Ans X 1. DIR@H GH
2. gttt
X 3. %D
X 4. PR

Q.5 fAusuiae $t sifkreel & uHg

8 grareih 8181

Question ID : 264330105454
Status : Answered
Chosen Option : 4




Q.6 m‘:ﬁgsit‘ﬁﬁ%mﬁﬁw, 2022 Sferhfedt # Fufufaa & 9 fea nfafaf ot wfesfea
HIAT8?
1. 9T fapie
I1. ST gt &Y & s
1. SR FRaTid sA1

Ans X 1.13R1I
& 2.1, 1181
X 3. FHad
X 4 3R

Question ID : 264330105229
Status : Answered
Chosen Option : 1

Q.7 YR BT Ugal Ncfie g Rign 1w (OVEP) ¥ 3R favar Tam 4|
Ans X 1. Tud

o 2. 3ffeEn

X 3. gRamon

X 4. SWUT

Question ID : 264330105212
Status : Not Answered
Chosen Option : --

Q.8 3itenfire fa 1956 HT ITRN TR T YHIT UST?
Ans X 1.3 el & AT A S T, fehT Sare WRd H g1 faam o Febar U

X 2. 1991 ¥ SR THA I 3G H ST BT 381 5 g1 7
X 3. YR e axgait & &= & srefeR &=
o 4. 3T ¥ fafaear sm anft

Question ID : 26433065438
Status : Answered
Chosen Option : 4

Q.9 Hdfw ATy &7 FEfilad & ¥ S19-91 AP R 38 $g 3R IT & oI 9U1 4l &
e faare) i fruem ot srgafa ar 32

Ans 1. Hd
2 2. it
X 3.Re
X 4. 3rdicg

Question ID : 26433064847
Status : Answered
Chosen Option : 4

Q.10 PrEfifad # S99 GER 41 U FUTad Y1 A 11 STl 82
Ans 1 TET

X 2. 9T

2 3. Sigaret

X 4. gHE@

Question ID : 26433072934
Status : Answered
Chosen Option : 3




Q11 g d QA g waa F R aifire auf oik 3= arawm i srazaear 7 gt 82
Ans 1 TaD!

X 2. <mad

< 3.5

X 4 FUN

Question ID : 264330105616
Status : Not Answered
Chosen Option : --

Q.12 YRa & fraferfaa & & e =T & "HFE” (MANAS) SEEPR e fRud 82
Ans X 1. TR

X 2. g

X 3. e

4. 39H

Question ID : 26433089238
Status : Answered
Chosen Option : 4

Q.13 Y TP g1 F ¥ H F11 S B
Ans 7 1. M1 3R M2

< 2. M3 3R M2

% 3. M1 3R M4

< 4. M2 3R M4

Question ID : 264330105370
Status : Not Answered
Chosen Option : --

Q.14 v gergroay Fafafaa # @ frg urda T A i afoues &2
Ans X' 1. HYD

X 2. HfefereH

X 3. BYUDHal

4. WA

Question ID : 26433064655
Status : Answered
Chosen Option : 4

Q.15 JTSTHTATW (ISSF) FfTUR q¢S HY 2022 HT IATAISIT oI g UT?
Ans 1. SR A

XogaH

< 3. Ugad oRd SHRI (UAE) o

X4 Ad

Question ID : 26433071557
Status : Not Answered
Chosen Option : --




Q.16 ﬁ%ﬁ@aﬁﬁmﬁeﬁvﬂuWWMﬁﬁ%mﬁmﬁm
2

Ans X 1 T gR
2< 2. \for g
3.3 3mH
X 4.3 v

Question ID : 26433054474
Status : Not Answered
Chosen Option : --

Q.17 The upper portion of the mantle is called .

Ans X 1. mesosphere
«” 2. asthenosphere
/< 3. stratosphere
5 4. lithosphere

Question ID : 26433066510
Status : Answered
Chosen Option : 4

Q.18 fpw a9, S fire 7 ¢ fowdY aifw fafewr $fSam e i frer 5@ ofa woifRa 12

Ans X 1.1815
& 2.1817
X 3.1805
< 4.1807

Question ID : 264330105542
Status : Not Answered
Chosen Option : --

Q.19 1885 ¥ B & Ugd AfeAz # fpa= wfafafemy & vmr forar ur?

Ans X 1.68
X 2.62
X 3.78
& 4. 72

Question ID : 26433089151
Status : Marked For Review
Chosen Option : 1

Q.20 YRR HRAA 2011-12 AT squIdUed @ A gl

Ans X 1.28.4 ufasd
X 2.21.4 gfazd
X 3.23.4 gfa=a
o 4. 26.4 Ufa=Id

Question ID : 264330105526
Status : Not Answered
Chosen Option : --




Q.21 T gfdfar, Sifes e & figai, St iR St gRT w=Tar 919 aren te @R 71 98 g
FASR F ITAR 5w AT # o1 §2

Ans  p 1 3{Vg
X 2. 33y
< 3. 4mau
X 4. FIfds

Question ID : 26433072641
Status : Answered
Chosen Option : 4

Q.22 1E 2022 ¥, T T YeHRI HHdTE B 9g1d1 31 3R FAIT HA &F 1T S HA arell 3ieR-
T UG BT TRT6 a1 7T § | 39 UG BT 3(ede B gh?

Ans X 1. YRd & Ay
X 2. YRd & foa &=
< 3. URd & T8 e
o 4. YRA & Ty HA

Question ID : 264330105248
Status : Answered
Chosen Option : 4

Q.23 fgfafaa & 3 P sifder Tag & Jaxt A 1927 ¥ e yfery ercfiers ST arsd
1 gear B & A7

Ans X 1. 3rgeiter |iHfd
2 2. 3ifFa YR dighe TR
X 3. Rgwm Yar e
4. g Rufie caiRieeH

Question ID : 26433085280
Status : Answered
Chosen Option : 4

Q.24 YRA & I & T3¢ 51 A (a) F TR, YA HRT AR BT 9§ Hood gRN 5
E BT YA B 3R IAP TSR SR TR BT THH B

Ans X' 1. gHNAIG
o 2. 3fqumE
X 3. dpad
< 4. YR

Question ID : 26433086783
Status : Answered
Chosen Option : 1

Q.25 gt & argrsa A R st 3t ar &1 wdt uiawa @ 82
Ans  p 1.78% FTSCIOH, 21% SIS 3R 0.03% BT SSNRIZS TUT 37 M3 1|
X 2.20.95% FSEISH, 78.09% TR 3R 0.04% HTE SEATRIZS TUT 37 MgT34
|
< 3. 10.95% TSCIo, 88.09% TS, 3TR 0.09% HTa- STISHRZS TUT 37 WS
|
2 4. 10.95% TSCISH, 78.09% HTRISH 3R 0.03% BT SEATRIES TUT 37 HHEST
el

Question ID : 26433089674
Status : Not Answered
Chosen Option : --




Section : Quantitative Aptitude

™' & 75 s # LABC = 81° R LACB = 9°1 /BDC 1 F T &2
p
Ans x4 80°
v 2. 90°
X 3. 60°
x4 70°

Question ID : 26433079795
Status : Answered
Chosen Option : 2

Q.2 U®H oG P! Rs.33,000 H ST UR TS AR BT 10% BT ATH TIaT & | 20% BT ATYH Ut B
¥ e 39 39 P9 Teg W S BI?

Ans X 1.Rs.30,000
< 2. Rs.36,600
« 3. Rs.36,000
< 4.Rs.35,000

Question ID : 26433063470
Status : Answered
Chosen Option : 3

Q.3 APQR, Q T JHFIVT g1 PQ P TS 5 cm 3T .PRQ = 30° & YT QR F1 TS 714
PIrT

Ans 1
X1 —cm
V3

5
<2 —cmm
3

3 543 cm
X4 34/3 cm

Question ID : 26433058825
Status : Answered
Chosen Option : 3




Q.4 gfg -3/ 1 TS 3422213AB, 99 A fIHT §, a1 2A + B &1 A foa 82
Ans X 1.10

& 2. 1
X 3. 13
X412

Question ID : 26433063913
Status : Not Answered
Chosen Option : --

Q.5 = faar war 9w for 8 fafir wufera) grRT 3= 7€ PR @Y Wen F exiar 81 s g 8
HU RT3 1S SR BT H& WEAT 5,000 81 TP FARNY Hu-i gR1 3N 715 R 31 T
P 59 gt 8 Hufra g1 I TE IR F Fa TEn F ufawa F 9 A =A@ gl

5%
JaeX R YT S §RT §AE T $& H-41T BT BT, AdeR U 94T V §RT AT T $d 51T

PV A YT T 2
Ans X 1.1:2

X2.1:4

& 3.2:1

X 4.3:1

Question ID : 264330105769
Status : Answered
Chosen Option : 3

Q.6 i & ¢ it IR fafim axgsi & ®u 1o o e geg &t gt 21

I | FT Hed | ORT g7
I 650 750
K 370 450
B 450 650
M 590 650

Tt a3 & SN faeha e Tyt 3id %9 Yeu & SiE a1 SR T 82
Ans X 1.140

X 2.710
< 3.160

 4.110

Question ID : 264330105729
Status : Answered
Chosen Option : 4




Q7

Ans

150°

T

& % T A, I KI = IT 3R EK = ET &, ar £TEl = :
X 1.75°
< 2.125°
o« 3.105°
< 4.150°

Question ID : 26433082922
Status : Answered
Chosen Option : 3

Q.8

Ans

WYY 71 IR SYR & T o Fifdra iy 2 autf § 21,200 3% 4 967 & 21,600 &) ot B1
a1 o= fpa! ufa=ma 82

& 1.25%
X 2.16%
2 3.30%
X 4.20%

Question ID : 26433087378
Status : Answered
Chosen Option : 1

Q.9

Ans

fg a=-12, b =—6 UT c = 18 §, T (2abc)/9 BT A HT &2
< 1.554
< 2.-288
X 3.144
 4.288

Question ID : 264330105941
Status : Answered
Chosen Option : 4




Q10 e anfar # guife 11U 6 SebrS o arc waaTg Ay & it 4 &1 sama wra St B 1 5@ ara

Ans

T A P O Yo & A GRS 81
e

K1 2(6V3—2)FE

X2 2(9V3-2) FHE 2

v Z(VI-)FHE

xe S (OVB-)FFE "

Question ID : 26433066248
Status : Answered
Chosen Option : 3

Q.11 P 3R Q TegfAfrm 3R SaR 3 ¢t frgurg §1 P ok A Tegfafram 3iR SR &1

Ans

ST HHRT: 5 : 11 30X 3 : 5 81 afe firey g P 3R Q #1 1 : 3 & gura & Arere? v

mm;%mm% a‘rqaﬁﬁweﬂwﬁmmﬁwmmmuﬁm

< 1. 63 Ufawd
X 2. 52 ufaerd
< 3. 48 Ufawd@
o« 4. 56 Ula=Id

Question ID : 26433063204
Status : Answered
Chosen Option : 3

Q.12 frdpe F Y wrival § T geaiaTet BT 3T 58 T SIAT 81 61 BT 3T TR Udd 4 &

Ans

R 32 gudt urdl & fre 39 99 g1

< 1.69
& 2.88

X 3.79
< 4.100

Question ID : 26433065263
Status : Answered
Chosen Option : 2




Q.13 A § 77 arferet 5 fafte Hufra & e RIER ot exld 21

FT | oefr FRER
E 270
F 230
G 350
H 400
I 300
HU H 4T F & 3ot SRIAR & 71 3R 82
Ans X 1.190
& 2.170
% 3.230
% 4.210

Question ID : 264330105762
Status : Answered
Chosen Option : 2

Q.14 'O vF FHAE g ¥ TR F v g #) 0 @ et Hr smEa
@' v3cm, 24/3cm, Sﬁcm%’l ﬁﬁiﬁ' Fr 9\ a'l
Ans 7 1. 48cm
/5 2. 64cm
/5 3. 32cm
5 4.24 cm

Question ID : 26433075900
Status : Marked For Review
Chosen Option : 2

Q.15 1 2
Ife x=2—-25+238 @ x3—6x%2 + 18x FIATFATE?
Ans X 1.45

< 2.40

 3.22

7 4.33

Question ID : 26433075836
Status : Not Answered
Chosen Option : --

Q.16 &I F=AT3HT T SUT 6 : 7 § 3R ITHT HEWH JATIGAP (HCF), 3 & | ST AHwH
FHYEH (LCM) |

Ans 7 1.126
K 2.124

X 3.122
X 4.128

Question ID : 26433080083
Status : Answered
Chosen Option : 1




Q.17 &I WM R TUTS TP g F 400 5. H. 1 g W &1 v Y@SI R A s & fore et @
YT I Y U 39 YOSl S A R & g Fowardt 81 10 92 & vyt G4 Yamisar

ﬁaﬁ%ummmaﬂmmmmmnmm% ar et aret
IS P AT T’

Ans X 1,26 o 1l /der
X 2. 22 fo #t efer
X 3. 16 fo.Ht refer
o 4. 18 T ot feier

Question ID : 264330105703
Status : Not Answered
Chosen Option : --

Q.18 Ua Us B1d &Y 32 A1 § B¢ Gpar 21 34 8 a7 »rd fbar ok B fan sw a6
%qgﬂqmﬁﬁn%ﬂﬁwmlmaﬁ?mqu?mﬁﬁmﬁﬁﬁm
?
Ans x 1. IGE ﬁ ﬁ
17
v 2 1628 fef
17
X 165 el

x4 162 f&At
17

Question ID : 26433076431
Status : Answered
Chosen Option : 2

' o AABC &, /B+ £C=110°%, &t £A & &Y wF P
Ans i 708

X2 80’

X3 90°

X4 60°

Question ID : 26433075011
Status : Answered
Chosen Option : 1

Q.20 gfga+b+c=5 a3+b3+c3=853R abc =258, @ a2+ b2 + c2-ab - bc - ca BT A
a Sifrg|

Ans 1.2
X 2.6
X 3.4
X 4.8

Question ID : 26433083024
Status : Answered
Chosen Option : 1




Q.21 3 fan war g« fory 8 Tl & A1 FI WEm i guiar ¥ g Wt 8 T as®! B
o ST 5000 21 U fafy vpat ¥ dsw! 3t Tem & 371 Wl 8 Wpal ¥ asol ol pa
T & ufaRrd & w0 ¥ gxifar man g1

B, D TUTE ¥ TS| B $d TSI T A, C TUTF & ASH! Pt HoT UL A JUTT T 32
Ans X 1.57:38
X 2.37:57
X 3.41:42
o 4. 4241

Question ID : 264330105773
Status : Answered
Chosen Option : 4

Q.22 TH GHTGR AU TTEH! B 12% PI Fe o § 3R B2 i 18% &1 a1y Wi w1 1 T
TG P i T 1 PIRTC ORI 69 gHTIER & 1T Rs.528 B (Fpean T &
T IR MR

Ans 7 1.Rs.708
< 2.Rs.798
/< 3.Rs.728
/< 4.Rs.695

Question ID : 26433075469
Status : Answered
Chosen Option : 1

Q23 Ifigtan(a+ ) = atan(a —B) = b#,ar tan 2a & AT AT HITST]

Ans a+b
1-ab

a+b
X2 1+ab

a-b
1-ab

a-b

1+ab

x 3.

x 4.

Question ID : 26433058936

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.24 25 3R 225 F T HeATIUTH! FId PIT|
Ans 7 1.75

X285
X 3.65
X 4.25

Question ID : 26433065080
Status : Answered
Chosen Option : 1

az g A T 757 H0T ¢, At e #T Ieipd ® g
ccs(’n:—A).cot(g+A) cos(—A)

is:
tan{m+A) tan(g?ﬂ—f—A) sin{2m—A)

Ans X" 1 Cos?A
< 2.8in?A
o 3.Cos A
X 4.SinA

Question ID : 26433076338
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Kranthi loves to swim at the local swimming pool in order that relieve his work stress.
Ans X 1.in order which
2<% 2. No substitution
5 3.in order as to relieve

o 4.in order to relieve

Question ID : 26433073945
Status : Answered
Chosen Option : 4

Q.2 In the given sentence, one word may have been incorrectly spelt. Select the correctly
spelt word from the given alternatives. If there is no error, select ‘No error’ as your
answer.

Decades of enimity between Lomovs and Chubukovs came to an end with the
marriage between the two families.

Ans X 1. No error
25 2. anaemity
/25 3. enemity
o 4. enmity

Question ID : 26433070553
Status : Answered
Chosen Option : 4




Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence.

The bus is now full of passengers, it will leave soon.
Ans X 1.isleaving

/5 2. has to leave

/< 3. leaves

«” 4.is going to leave

Question ID : 26433073840
Status : Answered
Chosen Option : 4

Q.4 Select the option that expresses the given sentence in active voice.
Where was this pen found by him?

Ans ¢ 1. Where did he find this pen?

/< 2. Where did he found this pen?

< 3. Where do he find this pen?

< 4. Where does he find this pen?

Question ID : 26433088477
Status : Answered
Chosen Option : 1

Q.5 Select the idiom from the given options that gives the most appropriate meaning of the
highlighted text in the following sentence.

A village fair is a place that contains many interesting objects. People of all
age groups eagerly wait for this.

Ans ¢ 1. Aladdin’s cave
25 2. Ivory tower
/< 3. Road to Damascus

25 4. Jewel in the crown

Question ID : 26433070447
Status : Answered
Chosen Option : 1

Q.6 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

He describes the place vivid / that inspired in us / a wish to visit / the same.
Ans ¢ 1. He describes the place vivid
/< 2. the same.
/< 3. that inspired in us
< 4. a wish to visit

Question ID : 26433074406
Status : Answered
Chosen Option : 3




the correct alternative.
highway.

Ans X 1. emancipation
5 2. trench

o 3. stretch

5 4. vitality

His heart pounded as he checked his rearview mirror and saw only the dark

Q.7 A sentence has been given with a blank to be filled with an appropriate word. Choose

of

Question ID : 264330104763
Status : Answered
Chosen Option : 2

Q.8 Select the sentences that contains no spelling errors in the given context.
Ans 1. Furore from the protestors was heard outside the president’s house.

< 2. Furrow from the protestors was heard outside the president’s house.
< 3. Furorow from the protestors was heard outside the president’s house.

% 4. Furoroe from the protestors was heard outside the president’s house.

Question ID : 26433070691
Status : Answered
Chosen Option : 2

contains a grammatical error.

Ans ¢ 1. his friends, were
/< 2. The boy, as well as
< 3. when the teacher came

/< 4. absent from the class

Q.9 The following sentence has been split into four segments. Identify the segment that

The boy, as well as / his friends, were / absent from the class / when the teacher came.

Question ID : 26433088154
Status : Answered
Chosen Option : 1

| named the child Ritesh.
Ans X 1. The child Ritesh is named.

/% 3. The child is named Ritesh.

Q.10 Select the option that expresses the given sentence in passive voice.

«” 2. The child was named Ritesh.

< 4. The child Ritesh was named.

Question ID : 26433072474
Status : Answered
Chosen Option : 2




Q.11 Rearrange the parts of the sentence in correct order.
Genome-wide
P. with metabolites that influence
Q. traits like flavour, disease resistance and texture
R. analysis of each apple enabled
S. identification of genetic markers associated

Ans X 1.PQRS
< 2.QRPS
X< 3.QRSP
« 4. RSPQ

Question ID : 264330104680
Status : Answered
Chosen Option : 4

Q.12 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. Within an hour, he was in jail.
Q. He made no attempts to hide his identity and even looked directly into the security
camera and smiled.
R. On Jan 6, 1995, McArthur Wheeler boldly robbed two banks in broad daylight with
no disguise.
S. By 11:00 at night, his picture was all over the news, leading an informant to identify
Wheeler to the police.

Ans X 1.RPSQ
« 2. RQSP
X 3.PRQS
X 4.SPQR

Question ID : 264330104702
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate synonym of the given word.
Chide
Ans 7 1. Scold
/< 2. Rescue
5 3. Follow
/< 4. Prevent

Question ID : 26433060628
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The man which was present at the meeting spoke against the chairperson.

Ans X 1. The man which were present
/< 2. The men which was present
«” 3. The man who was present

< 4. The man whom was present

Question ID : 26433084636
Status : Answered
Chosen Option : 3




Q.15 Select the correct direct form of the given sentence.
She tells me that | am her lucky charm.

Ans X 1. She says to me, “You was my lucky charm.”
/< 2. She says to me, “l am your lucky charm.”
«” 3. She says to me, “You are my lucky charm.”

/< 4. She said to me, “You are my lucky charm.”

Question ID : 264330104645
Status : Answered
Chosen Option : 3
Q.16 Select the most appropriate meaning of the underlined idiom in the given sentence.
I must tell you that it all went pear-shaped after you left the meeting in the middle.
Ans X 1. Became very entertaining
/< 2. Became tragic
25 3. Turned out fine
«” 4. Went terribly wrong
Question ID : 26433061580
Status : Answered
Chosen Option : 1
Q.17 Select the most appropriate synonym of the underlined word in the given sentence.
Isn’t knowledge supposed to make life sweeter and happier?
Ans X 1. Superiority
/< 2. Profession
«” 3. Wisdom
< 4. Curriculum
Question ID : 26433060362
Status : Answered
Chosen Option : 3
Q.18 Select the most appropriate ANTONYM of the word ‘dwindle’ in the sentence given
below.
Rahul advised Neerja to appreciate or motivate her younger brother and not to dwindle
or neglect his ideas all the time.
Ans X 1. motivate
/< 2. deprecate
«” 3. complement
25 4. neglect
Question ID : 26433060855
Status : Answered
Chosen Option : 1
Q.19 Select the most appropriate ANTONYM of the given word.
Inherent
Ans X 1. Restricted
«” 2. extraneous
< 3. Induce
< 4. Natural
Question ID : 26433060218
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate option to complete the given sentence.

Ans

They were not able to get the item from the store because it was
«” 1. out of stock

#< 2. in fashion
< 3.invain
/5 4.on leave

Question ID : 26433084707
Status : Answered
Chosen Option : 1

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Exercise is the (1) of muscles and limbs which is done to (2) a specific
outcome. The chief aim of doing exercise is usually (3) fitness. At the end of our
(4)___ day, we preferto (5)____in leisure activities rather than a workout.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
25 1. current

/X 2. fluctuation
«” 3. movement

/5 4. motion

Question ID : 26433087420
Status : Answered
Chosen Option : 3

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Exercise is the (1) of muscles and limbs which is done to (2) a specific
outcome. The chief aim of doing exercise is usually (3) fitness. At the end of our
(4)___ day, we prefer to (5)_____in leisure activities rather than a workout.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
5 1. establish

X 2. yield
/5 3. procure
o 4. attain

Question ID : 26433087421
Status : Answered
Chosen Option : 3




Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Exercise is the (1) of muscles and limbs which is done to (2) a specific
outcome. The chief aim of doing exercise is usually (3) fitness. At the end of our
(4)___ day, we prefer to (5)_____in leisure activities rather than a workout.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

< 1. magnifying
/X 2. intensifying
< 3. amplifying
«” 4. enhancing

Question ID : 26433087422
Status : Answered
Chosen Option : 4

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Exercise is the (1) of muscles and limbs which is done to (2) a specific
outcome. The chief aim of doing exercise is usually (3) fitness. At the end of our
(4)___ day, we preferto (5)____in leisure activities rather than a workout.

SubQuestion No : 24

Select the most appropriate option to fill in blank no. 4.
& 1. lively

«” 2. hectic
5 3. feverish
5 4. furious

Question ID : 26433087423
Status : Answered
Chosen Option : 2

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Exercise is the (1) of muscles and limbs which is done to (2) a specific
outcome. The chief aim of doing exercise is usually (3) fitness. At the end of our
(4)___ day, we prefer to (5)_____in leisure activities rather than a workout.

SubQuestion No : 25
Select the most appropriate option to fill in blank no. 5.
/< 1. coddle

/< 2. abandon
«” 3. indulge
X 4. luxuriate

Question ID : 26433087424
Status : Answered
Chosen Option : 4




